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SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
onsss 29,630,000 * 1.5% 445
OMMES 29,630,000& * 1.42% 421
O ¥ &E SOt 200,000 * 2% * 23| 800
201 et A | 1,830 1,830 0
01 AFR2t2ldl 1,570 1,570 0
oZglyH EY 220,000& = 54 1,100
OZ2AI] EYH 260,000& * 1H 260
O=EANEX 21,000& * 102+ A 210
02 35249t 260 260 0
O &3yl 260
Ost=2Z M2 110,000& = 13 110
O3 A& 150,000& * 13 150
206 M = Hl 6,310 2,300 4,010
01 & bl 6,310 2,300 4,010
RS 1,500& = 22,5004 3,750
OJtee = 80,000& * 10H 800
OX= &l AtoI=2 100,000& * 54 500
OCINEXza IBEER 25
20,000& * 38 » 12& 720
OETNES+E HOolZ 150,000& * 28 300
oONsUsetd) g+ X 3,0008 * 80= 240
301 dEtE A= 8,320 8,320 0
11 IIEtE A2 8,320 8,320 0
O ANE2 KNJASAL 2SAY|
0,000& * 4% * 104 8,320
405 XH&kE S| 6.600 0 6,600
01 M =S FSHI 6,600 0 6,600
OX=a AII72 6,600
OBbBE53 CHAL A It 1,700,000& = 1J4 1,700
O6H5H =S A At 2,450,000& * 204 4,900
AT A2 AIEE2 R X2 10,918 10,397 521
201 Yot 2 Y| 4,794 4,794 0
01 AFR2t2ldl 3,000 3,000 0
OR21&EH| 250,000& « 12& 3,000
02 352494l 1,794 1,794 0
oY -2 RA2el 30,0008 = 3CH = 128 1,080
O&dSE HA 14,000& * 51 714
206 M = Hl 6,124 5,603 521
01 M= bl 6,124 5,603 521
oz&a ¥ HAES 4,166




SH CHBHMSSEE ANYCAHDB
B RIZCHT 29
el NEEAB 29 CEEEED
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
OYsrH 7,0008 * 6O * 12€ 504
O3H& X 3,500& * 102 * 604 ~ 12&8 2,520
oMgI=E 1,770 « 5004 ~ 12€ 1,062
OAMl==tl 5 800& * 100H 80
oY - 2D 25YH 16,5008 » 128tA 198
OR4A NSEHD A2 360
OHIL (th) 100,000 * 2B8tA 200
ol (A) 80,0008 * 28+tA 160
OXAMZE(GIEL2 5&) 50,0008 *» 65 = 43| 1,200
OAE & J|8A 20,000& * 104 200
MNETAHZ JH2AIZ AEA2A 86,705 80, 241 6,464
= 29,366
& 20,976
Al 36,363
101 21 214| 86,705 80, 241 6,464
= 29,366
= 20,976
Al 36,363
04 JI2ZtHIZ22XNSES 86,705 80, 241 6,464
OJIZ2ZtM 22X B4 83,905,000 83,905
= 29,366
= 20,976
Al 33,563
O=2XEOE & HAESIIY| 700,000 = 4H 2,800
HIACAHE 24 306,742 263,357 43,385
= 36,708
& 26,220
Al 243,814
HACNHNS S E= 111,460 111,900 AN440
201 YEr2 Y| 14,760 17,400 A2,640
01 AP 22| d| 14,760 17,400 A2,640
OFIALHEME RS 14,760
[OESN| 15,000 = 1500 AF = 12&€ 2,700
ORI &K 13,000& * 10JHAF = 12& 1,560
Og 2t 11,000& = B0 AF = 12 6,600
OZF2tX] 5,0002 * 1500 Ab * 52= 3,900
206 TH 2 8| 7,000 7,000 0
01 X2 Hl 7,000 7,000 0
OEAE2E HE 7,000
ORFID TAG 500 = 7,000H 3,500
Octe =X 9= 500& = 7,000 3,500
405 XH&HF S HI 89,700 87,500 2,200
01 XAt = EF S HI 2,200 0 2,200




SH CHBHMSSEE ANYCAHDB
HH: DDA 29
ool HACHT 29 EEREED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
oHtZE=Z el gDl 2,200,000& * 1CH 2,200
02 & A7 87,500 87,500 0
OEANTY 12,500& = 7,000 87,500
HIATAHZ Sz )H 249 26,310 31,402 N5,092
201 Bt A | 24,910 25,650 AT40
01 At 22l Yl 3,200 2,200 1,000
OSME2E HE 2,000& x 800% 1,600
O M ot 228 2,000& = 800% 1,600
03 & AtE G 21,710 23,450 AN 1,740
OENZ B3Z2)d 2H 20,810
O2Z A=
35,000& * 2A12F = 12Jl8F * 243] 20,160
Osls+=a H& 70,000& * 54 350
OEZNEH2Y 22FH| 300,000& * 13 300
O A2 F2tSH AL 200
Od#AI2YE 223 H| 200,000& * 13 200
O=SM2AY At 700
Os=239 =& 500,000& * 13 500
OgAMNESY AZ2EH| 200,000& * 13 200
301 dEtE A= 1,400 1,400 0
09 HAIAHI EA= 1,400 1,400 0
O=2Z=z 18 XAJASALA 24|
7,000& * 10¥ = 10 * 23] 1,400
HACHNZ NS 2H 49,627 8,790 40,837
101 @121l 33,597 0 33,597
04 JI2ZtH 22 XNHEE =+ 33,597 0 33,597
oXzde € =L Nga 29
1,800 = 29 * 262 = 11& 29,630
O4HEE = 3,167
O=01H=z 29,630,000& * 4.5% 1,334
OHLEH 29,630,000& * 3.06% 907
O&IAEE 907,000& * 6.55% 60
OoOnsesd 29,630,000& * 1.5% 445
OMHEE 29,630,000 * 1.42% 421
O ¥ &E FIttI 200,000 * 2H * 23| 800
201 et A | 1,830 1,880 A B0
01 AFR2t2l Y] 1,570 1,570 0
OEC IS 220,000& * 54 1,100
OZ2AJ] EY 260,000& = 1JH 260
O=2AEX 21,000& * 102+ A 210
02 332494l 260 310 A 50




CHRBMSSES ARCAB
ZZHE 29
HACHZ 29
SA BB O () - MM - HES il
©F=R=11s] 260
Ost=2& & 110,000& 110
O3 M= 150,000& 150
206 M= Hl 8,040 2,750 5,290
01 =8l 8,040 2,750 5,290
OUEsAS 5,940
OU&3te 1,500& = 3,000H 4,500
O2teel= 80,000& = 1504 1,200
OdslE3aeu 10,000 * 2404 240
OXrZ & AFQTAI A E 100,000 * 54 500
OEAME=Z2 HOIZE 150,000& » 28 300
OdlEANS 2&8(LIXIE HE4d)
25,0003 = 2004 500
OMIIEESNE 3,000& = 1004 300
oOXsUHsEEEI g+ X
3,000& = 1008 300
OAEE IJlgA 20,0002 = 10K 200
301 et a3 4,160 4,160 0
1MIIEBESS 4,160 4,160 0
OTHEE NAZAMT At
20,0003 = 28 = 104 4,160
405 THebH S| 2,000 0 2,000
01 XA = ZH SHI 2,000 0 2,000
Oz a M7 2,000
Ob5H2¢ A ML 600,000& = 24 1,200
Ob&2 S AIA DL 800,000& = 14 800
HATND ALSRABE 10,964 10,964 0
201 L2l 5,472 5,472 0
01 At 2t 2|l 3,000 3,000 0
oSl 250,000& = 12& 3,000
02 =224l 2,472 2,472 0
od - 2=+ sX&cl 34,0008 » 404 = 12& 1,632
O3sE HFA 14,0002 *» 60E 840
206 M= dl 5,492 5,492 0
01 =8l 5,492 5,492 0
OXMABE(51E2 3F)
50,000& = 33 * 23l 300
Oztas & HAES 4,502
Ogan 7,000& * 84 + 12& 672
Ost&EX 3,500 * 88 * 8 A * 128 2,688
oMrgIIs& 1,770 = 5004 » 123 1,062




SN CARBMSSES ANBEAR
Hu: ZTCAB 2Y
ool HATNT 29 (B9 ®R)
= _ — d =
SN FH-SA(EN) - MBAY - BES e HlnE2
OAl==Hl 5 800& = 100K 80
o4 JNsEHI B3 360
Ol (th) 100,000& * 2&8tA 200
Ol (4) 80,000& * 29tA 160
od - 2xJ =5Z 16,5003 * 20=tA 330
HEATAHZ JH2tAIZE HERH 108,381 100, 301 8,080
2 36,708
< 26,220
Al 45,453
101 @124 dl 108,381 100, 301 8,080
2 36,708
= 26,220
Al 45,453
04 JIZtHNZ22HEE+ 108,381 100,301 8,080
QIR 22X 24 104,881,000 104,881
= 36,708
< 26,220
Al 41,953
O=XNZEUE Y FES 700,000& * 5% 3,500
SN2 24 659,645 1,145,858 A486,213
2 33,561
< 20,976
Al 605,108
ESE=TAMS U2 ES 451,260 1,105,737 A 654,477
201 ¢er24| 46,260 86,860 A 40,600
01 At 22l 46,260 76,760 A 30,500
O M= 0t3HI 1,050& = 30,000 31,500
oFJILEE =& 14,760
Os%X 15,000& » 15JH AL » 12& 2,700
OX X 13,000& = 10JH A = 123 1,560
Og2tX 11,000& * 500 Ab + 123 6,600
O=2tXl 5,000& * 1500 Ab * 52== 3,900
206 28 30,000 57,378 ~27,378
01 MHZ 4l 30,000 57,378 A27,378
O=NMBel E3 30,000
ORFID TAG 500& * 30,0004 15,000
OcteE =X 2 95 500& * 30,0004 15,000
405 KtabH S| 375,000 883,179 A 508,179
02 T A= 375,000 437,500 A 62,500
OEAM7Y 12,500& = 30,0002 375,000
ESHEEAMS EEz2 0™ 25,750 0 25,750
201 Let24E] 25,050 0 25,050




2N

 —

=
XMZIH: D
ocHm s oo

2P 3&

9l QHEACHT 29 (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
01 AFR2 22l Yl 1,600 0 1,600
OsSAEZE 2,000& x 800% 1,600
03 #HAFS S HI 23,450 0 23,450
OSHEsZ2IY 29 20,950
O A=
35,000& * 2A12F = 12JH8F * 243] 20,160
@)=E==4 70,000& * 74 490
OEzdH 29422 100,000& * 3= 300
O A2 F2t AL 500
OMEgZz )8 29| 300,000& * 13 300
OAx2E F¢ 100,000& * 2= 200
O=sA2AY @At 500
OMgZ=z]d 294| 300,000& * 13 300
o228 F¢ 100,000 * 2& 200
o0ts=2t =3sA 500,000& =* 33 1,500
301 dEtEAZ 700 0 700
09 HALAHIEA = 700 0 700
OSANSZ2 0 NIFESALXN 24|
7,000& * 1098 = 103 700
QESHETNE IS 2F 78,626 0 78,626
101 2124 1| 50,396 0 50,396
04 JI2ZtHZ2E2XNESE 50,396 0 50,396
ONEHE ¥ FL HRASY o
1,800 = 39 » 262 « 11& 44,445
o4UEE = 4,751
O=01Hz 44,445 ,000& * 4.5% 2,001
OALdEE 44,445 ,000& * 3.06% 1,361
O&IYEBE 1,361,000& * 6.55% 90
Ons:sd 44,445 ,000& * 1.5% 667
OMES 44,445 ,000& * 1.42% 632
OZF&E FIth| 200,000 = 3Y = 23| 1,200
201 Bt A | 2,060 0 2,060
01 AP 22l Yl 1,570 0 1,570
oZelH EY 220,000& * 54 1,100
O=AI EY 260,000& = 1JH 260
O=Z2AEX 21,000& * 102+ A 210
02 53294l 490 0 490
O g3yl 490
Ost=2 M2 340,000& 340
OB M= 150, 000& 150
206 T2 HI 8,730 0 8,730




2N

 —

=
XMZIH: D
ocHm s oo

2P 3&

9l QHEACHT 29 (S &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
01 & bl 8,730 0 8,730
O=ANUEIIIAS 5,700
O3S 1,500& = 3,0004 4,500
ogzTZell el 80,000& = 15JH 1,200
OXZ & AtQl= 100,000& = 18H 1,800
OCXE2Y 2IBEEQ 2= 20,000& * 124 240
O¢dEZMEE 10,000& * 304 300
OENEs+E HolZ 150,000& = 12 150
OXlsUsEete) 945 X
3,000& * 1202 360
O=EME 3,000& = 60K 180
301 LerE A3 6,240 0 6,240
11 IIEtE &2 6,240 0 6,240
O NME2 XAHJASALA 2SS4l
0,000& * 3H * 104 6,240
405 XHo&HF S HI 11,200 0 11,200
01 KAt S Z 3 S| 11,200 0 11,200
oOx2a MIPY 11,200
ObH23 S A A D}t 800,000 = 8JH 6,400
O5H23H CHAI A D} 600,000& = 8JH 4,800
QESLETANI AIESS A 22 17,304 0 17,304
201 LBt A H| 10,268 0 10,268
01 AtR 22l ] 3,600 0 3,600
O R0l &AH| 300,000& = 128 3,600
02 3524t 6,668 0 6,668
od=xI| RA2e 36,800& * 6 ~ 12& 2,650
OZ2J|dFI| X&2l
27,9003 = 1204 ~ 12& 4,018
206 TH 2 HI 7,036 0 7,036
01 X2 Hl 7,036 0 7,036
O3 &al & 4,736
OF & X 0& *x 98 * 104 128 3,780
oMgIIEE 1,770& = 4500 128 956
odedzsd 85 15,000& = 48FA 128 720
O XAsEED| 23 720
OHdI< (th) 100,000& = 48t A 400
Oodlg () 80,000& * 48+ A 320
O F AF& s 2) 50,000 65 300
OFMEE( 50,000& * 4% * 13 200
OA= & 20,000& * 184 360
LESTT AN 29 86,705 40,121 46,584




2N
X ZH -
L= B

el

Jo
]S
r
i
>
w
H
x
il

. _ = SfE|
SA BB (SH) - NRAY - B Ol At o %E& HRE2
= 33,561
< 20,976
Al 32,168
101 124 H] 86,705 40,121 46,584
= 33,561
< 20,976
Al 32,168
04 JI2ZtHIZ22NEE S 86,705 40, 121 46,584
OJI2ZtMZ22 X B4 83,905,000 83,905
= 33,561
= 20,976
Al 29,368
OZ2XEoE & HESIY| 700,000 = 4H 2,800
QETC A 2Y 440,306 131,231 309,075
= 14,683
< 10,488
Al 415,135
QETAS NSES 300,940 34,660 266,280
201 Yet2 | 30,940 7,660 23,280
01 AP 2t 2| H| 30,940 7,660 23,280
O&EM=7L 0t3Hl 1,050 = 20,000& 21,000
oOFIILHEE = 9,940
Oz 2 Al 15,000 = 100 AF = 128 1,800
O Xl Xl 13,000& = 10JHAF = 128 1,560
Og 2t 11,0008 = 405 = 128 5,280
OZF 2t 5,0008 * 5If A} * B2 1,300
206 24 20,000 2,000 18,000
01 X2 4| 20,000 2,000 18,000
OEAZB2E HE 20,000
ORFID TAG 500 * 20,0004 10,000
Octe =X 9= 500& * 20,0004 10,000
405 Ko SHI 250,000 25,000 225,000
02 = A7 250,000 25,000 225,000
OEANTY 12,500€ = 20,000 250,000
QECAHD BHTRIY 2 27,290 16,110 11,180
201 LBt 26,590 15,550 11,040
01 AP 22| H| 3,200 2,200 1,000
(OEISIR2PN 22,0008 * 8008 1,600
O A& Ly 2IEY 2,000 * 8008 1,600
03 A2 H| 23,390 13,350 10,040
OBt 24 17,450
O ALSE
35,000 = 2A12F « 1000 = 2438] 16,800
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2N
X ZH -
L= B

el

FO 01 HN

Negysse
ZTNB 29
HoNT 2

gl

A B8 a2 (3) - HRAY - BES il 2
206 M=l 4,630 3,050 1,580
01 =8l 4,630 3,050 1,580
oOlss# 1,450
OU&3t 1,500& * 60074 900
Oog=Zed ela 80,000& * 54 400
Og=zXxey 32y 10,0002 * 1504 150
OU=R At2IES 100,000& * 187K 1,800
OLXNENZzA IIEER 25 55,0008 * 694 330
Od=ZH=Z 10,000 * 300H 300
OTNE+=E HOIZE 150,000& *» 28 300
ONsUEEEI 25 EX 3,000& * 902 270
OMIIE SHE 3,000& * 60M 180
301 L2 A F 6,240 8,320 A 2,080
11IIEIEA S 6,240 8,320 A 2,080
OEAMEel TUHISALA 24l
0,000& = 38 = 104« 6,240
405 RHoHE S HI 12,050 0 12,050
01 AL EFSFHSHI 12,050 0 12,050
oxza M7 11,150
O2d =Mt 700,000& = 124 700
OBEH1AH SAI AL 550,000& * 194 10,450
O& 30| 400,000& = 14 400
OHMZ7I 500,000& = 104 500
QECNE NEESS X 2L 10,376 7,080 3,296
201 LBt 6,414 4,440 1,974
01 At 221l 3,000 3,000 0
O3 250,000& = 123 3,000
02 3323l 3,414 1,440 1,974
ode=Il sl 25,0003 = 404 » 12& 1,200
O3J1&8 &I sX&el 250002 » 504 = 12& 1,500
OdsE HFA 14,0002 » 518 714
206 M= Hl 3,712 2,640 1,072
01 =8l 3,712 2,640 1,072
Ost&da & HLAES 2,554
Ogan 8,000& * 6IH A * 12 576
Ot&EX 3,500 * 5E * 6 A *128 1,260
oMgIIs&E 1,770 = 3004 » 123 638
OHMI==Hl % 800& = 1004 80
ode=sl &4 16,5002 » 128f A 198
o4 UNsEHIE 223 360




SH CHBHMSSEE ANYCAHDB
M BDCHY 29
Chelr Q¥ M2 29 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Ol (th) 100,000& * 29+ A 200
OHlg (&) 80,000& * 2¥+A 160
OXLUAREZ(AEL 38)
50,000& = 48 * 23| 400
OAMESEI A 20,000& * 1004 200
405 RHoHE S HI 250 0 250
01 et EFFHSHI 250 0 250
o4& NsEHII 250,000& = 10CH 250
QETM2 AL HE2Y 43,353 60, 181 216,828
= 14,683
= 10,488
Al 18,182
101 @124l 43,353 60, 181 A 16,828
= 14,683
< 10,488
Al 18,182
04 JIZHHZ2Z2XNSE =+ 43,353 60, 181 A 16,828
QJIZHZ =X 2=+ 41,953,000 41,953
= 14,683
< 10,488
Al 16,782
O=XZQE Y HEBSIHHl 700,000& * 2H 1,400
SST AN DIBAIE &S 6,000,000 750,000 5,250,000
Xl 2,400,000
< 1,800,000
Al 1,800,000
SN2 HE 6,000,000 750,000 5,250,000
Xl 2,400,000
< 1,800,000
Al 1,800,000
ST S H2AHE 6,000,000 750,000 5,250,000
Xl 2,400,000
< 1,800,000
Al 1,800,000
401 Al BIZ 201 8] 6,000,000 750,000 5,250,000
Xl 2,400,000
< 1,800,000
Al 1,800,000
01 A& HI 5,185,000 745,280 4,439,720
O=3&X - EM2 A8 3 A 5,185,000,000& 5,185,000
Xl 2,080,000
< 1,560,000
Al 1,545,000
02 Zteltl 800,000 0 800,000
O3dEXF TN AE S A el
800,000,000& 800,000




SH CHBHMSSEE ANYCAHDB
H: TBEAD IIBAL =5
Chel: 32 A tel &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 320,000
= 240,000
Al 240,000
03 Al 2 THHI 15,000 4,720 10,280
O3&EXF TA2 A S AL 20U
6,000,000,000& =* 0.25% 15,000
HE2HAIH(EAH2EMSSE2R ABEAR) 1,275,217 1,279,182 A 3,965
ol 2d | 435,417 365,412 70,005
ol Al 435,417 365,412 70,005
101 14 bl 435,417 365,412 70,005
01 2= 257,050 215,392 41,658
OAZAZESE 257,050
ogeHs 9,649% = 749Y  30AI2t » 128 257,050
02 JIEtA 2+ 103,911 81,095 22,816
N EERS= 69,474
OBMSEE BAYS
9,649% * 2" * 30AI2+ » 123 6,948
OENMZ EAES
9,649% = 18 = 30AI2t = 128 62,526
oOsgz2=e¢ 18,382
OEMZ(EA) 78,5533 * 29 « 117 18,382
OBRZE 2= 120,000& » 9 =« 23| 2,160
OANZHAZRZ (LM S)
9,649 * 4H * 30AI12F » 123 13,895
03 RIAHAZ2 2R 74,456 68,925 5,531
Os8A 2= 74,456
OoJlzgs 1,826,000 » 2% » 12& 43,824
OozZ2s+% 182,600& * 2H = 123 4,383
O&¥d=+g 50,000& = 29 = 12& 1,200
OIJLA X &bl 160,000& * 2H = 123 3,840
O&F M Z Al 150,000& = 2% = 12& 3,600
OusSEXHl 150,000& = 2H = 12& 3,600
OFEFItHI 1,096,000 * 2% * 23] 4,384
OxuU=22E 178,000& = 29 = 12& 4,272
Oz 600,000& » 29H 1,200
OAIE &l 79,820 * 2% * 20 3,193
OP == 960
—bi < Xt 40,0002 * 1¥ * 123 480
-JIEH IS 20,0003 = 28 » 123 480
Jl23&dl 839,800 913,770 273,970
1= Al 839,800 913,770 AT73,970
201 Let2dE] 788,960 868,870 279,910




SH CHBHMSSEE ANYCAHDB
B BHSARU(CHREMSSER ANYCTHD)
& 123l (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
01 AFR2t2ltl 37,148 33,808 3,340
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05I HINESEI SHE
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01 XL 2 ZFH S| 32,440 1,000 31,440
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201 L2l 500 1,200 A700
03 &AL2 I 500 1,200 A700
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100,000& + 59 500
202 044l 1,400 0 1,400
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OX & X 13,000 * 10JH AL » 12& 1,560
OZ2tX 11,000& = 35JH A » 123 4,620
O=F2tX 5,000& * 1500 AL * 52= 3,900
206 M= Hl 10,000 6,000 4,000
01 M= 4l 10,000 6,000 4,000
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206 M =4l 9,080 2,990 6,090
01 M= Hl 9,080 2,990 6,090
OUE3AS 4,900
ousEate 1,500& = 3,0007H 4,500
OJtEelX 80,000& * 58 400
og+s X 3,000& = 1002 300
Otz NE+E HE 150,000& = 102 1,500
OMItE SHE 3,000& = 1004 300
OKIt A2l = 100,000& = 54 500
OIEERA2E(HEAE)
20,000& = 35 * 1204 720
OZeH EU(NZAE) 220,000& = 394 660
OSHNU(NHzEaE) 20,000& * 107H 200
301 AP B A 8,320 4,160 4,160
NII24d=3 8,320 4,160 4,160
O=AN del NHESAX &HIXE
20,0008 = 4% = 104 8,320
405 TtatF S 16,500 5,000 11,500
01 ML ESFHSH 16,500 5,000 11,500
OSEa EMHAEEAMIL  1,000,000& * 694 6,000
OLANZAMEE S 2,000,000 = 1JH 2,000
O=MASII 7,500,000 * 1JH 7,500
O0tsXtza A0 500,000& * 2K 1,000
DECHBHBALAE 86,705 40,121 46,584
= 37,757
S 20,976
Al 27,972
101 @124 H] 86,705 40,121 46,584
= 37,757
S 20,976
Al 27,972




> 0 H

NBBYSSEY QBT
ZSNB 2Y
ATHE2Y

= _ — d =
SA - B (SA) - MRAY - BYS e 2
04 JIZtHZ22 s+ 86,705 40,121 46,584
OJIZtH 22 EE =+ 83,905,000& 83,905
= 37,757
< 20,976
Al 25,172
O=SXNZQE & HEZFIHHI 2,800,000 2,800
=E=—E = NPT ¥l 15,018 13,933 1,085
201 L Er2 A | 7,560 7,560 0
01 At22t2l bl 3,000 3,000 0
Ol ZHIAIAE 250,000& * 123 3,000
02 2324l 4,560 4,560 0
Ood - 2=+J szl
25,000& = 6CH = 12& 1,800
OZ3JI8&EJl SX&cltl
23,000% = 1004 = 12& 2,760
206 M= Hl 7,458 6,373 1,085
01 M= 4l 7,458 6,373 1,085
OHULRE(52255)
50,000& * 5& = 13 250
OFMNZLSE(HEZSA9B)
50,000& = 8& 13l 400
O3t & F2ES 5,118
Ooget 8,000& = 1002 = 128 960
Ost& Xl 3,500% * 88 » 10014 123 3,360
oMgIIsE 1,770& = 300# = 123 638
Otls 800& * 200K 160
od . - 2=J =5 16,5003 » 202 A 330
OR4 NsZEI AR 360
Odlg () 100,000& * 29+ A 200
Odlg (&) 80,000& * 28fA 160
OAZE JlgtA 20,0003 = 5004 1,000
SECH2A2Y 346,898 255,929 90,969
2 29,366
< 20,976
Al 296,556
SN EES 148,460 94,460 54,000
201 ot h| 13,460 13,460 0
01 AtR 2t 2l | 13,460 13,460 0
oOFJIAtAEE =2 13,460
OsdX 15,000& = 15JHAF = 128 2,700
OX X 13,000& = 10JHAF » 123 1,560
O=2+Xl 5,000 * 100H AL * 52== 2,600
Og2X 11,000& = 5000 A » 123 6,600




A E
X ZH: 2
L= B (=}
= I3

H

x

1=

HeBMuss=s 28
BTN 2Y
dEHBEY

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
206 M = Hl 10,000 6,000 4,000
01 & bl 10,000 6,000 4,000
O=ANE2 S 10,000
ORFID TAG 500& * 10,0004 5,000
Octe S X2 95 500& = 10,0004 5,000
405 XH&HF S HI 125,000 75,000 50,000
02 &M+ H| 125,000 75,000 50,000
O= A 12,500& * 10,000 125,000
CANZ2EZN)HSH 34,690 25,760 8,930
201 LEt2 9| 33,290 24,360 8,930
01 AFR2t2l bl 2,800 2,000 800
OsSME2E 2,000& = 1,000 2,000
OEAN2 EE2= 2,000& * 4008 800
03 A2 H H| 30,490 22,360 8,130
OsMEs=Z2] 2 27,500
OBA+g
35,000& * 2A12t = 150l 8t = 243] 25,200
Os=23dHxd HIJ|I3% 500,000 * 23] 1,000
OZ2date 70,000& * 104 700
oz )dH &9 300,000& * 23] 600
OsSHSoE S4 1,590
OsHELg
35,0003 * 2A12F = 2JBF * 63] 840
OEES TA&7Y 15,000& * 10& x 58 750
O A2 F2HSHA 700
OLAE 500,000& * 13 500
O#AMNEY AZ2ZH| 200,000& * 13 200
OsA2 Z At 700
OZ M= 500,000& * 13 500
OdAI2YE 223H| 200,000& * 13 200
301 dBtE A= 1,400 1,400 0
09 HALAHIEA S 1,400 1,400 0
ORstZz 0¥ XNASALA 2|
7,000& * 1098 = 203 1,400
hesgsaesd 66,122 44,547 21,575
101 @121 | 33,602 31,367 2,235
04 J|2tH 22 NEE 33,602 31,367 2,235
oxzE2 U = 29 o
* 23« 262 x {18 29,630
O4UlAIZI EE & 3,172
O=oAZ B 29,630,000 * 4.5% 1,334




SN CARBMSSEE QST
M ZDCHY 29
ciel: ESCNERY (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OAHZE2EE 23 29,630,000& * 3.06% 907
OEIAEEE 23 990,0008 * 6.55% 65
CLnE2Es BE3 29,630,000& * 1.5% 445
OtHEEE 23 29,630,0008 * 1.42% 421
OZF & F Il 200,000& = 29¥ « 23] 800
201 L2l 1,830 2,030 A 200
01 At 22l 1,570 1,570 0
OZgH ElH 220,000& = 504 1,100
O=AIl EH 260,000& =« 1CH 260
O=AMEX 21,000& * 10=tA 210
02 =24l 260 460 2200
©F=ElR-IE A==, 260
Ost=2 M2 110,000& 110
O3 Md2 150,000& 150
206 M= Hl 9,740 2,830 6,910
01 =8l 9,740 2,830 6,910
os 3AE 5,940
OUsEate 1,500& * 3,000 4,500
O3tE =ZgH ela 80,000& = 1504 1,200
OJtE Zegy 224 10,0002 » 2404 240
oOnsStHEEEI I+ X
3,000& = 1008 300
OAE2E IlgA 20,000& = 104 200
OmWEZMN E+8 HOXE 150,000 * 102 1,500
OMItE SHE 3,000& = 1004 300
OXZ A ARl AIAE 100,000& * 1504 1,500
301 et a3z 8,320 8,320 0
11IIEtEA S 8,320 8,320 0
O MEC XNEASAAR AH XA
20,000 = 4% = 104 8,320
405 RHoHE S HI 12,630 0 12,630
01 AL EFSFHSH 12,630 0 12,630
OAMESE 55,0003 = 304 1,650
O0ts Z&a A0t (4008) 830,000& = 6H 4,980
oxzZa NIt 1,000,000& * 64 6,000
ZEZEHBHBAIRAF (2 D) 86,705 80,241 6,464
= 29,366
< 20,976
Al 36,363
101 @124l 86,705 80,241 6,464
= 29,366
< 20,976




2N
X ZH -
L= B

el

0ok OF H

HeBMuss=s 98
BTN 2Y
dEHBEY

>
el

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
Al 36,363
04 JI2ZtH 22 XNHEE =+ 86,705 80,241 6,464
OJI2MIZEXNE S 83,905,000& 83,905
= 29,366
< 20,976
Al 33,563
OSXEAE L HAEFIH| 2,800,000& 2,800
ANEESR X 22 10,921 10,921 0
201 Bt A | 4,740 4,740 0
01 At 22l Yl 3,000 3,000 0
OR01AH AIAE 250,000&  12& 3,000
02 332494l 1,740 1,740 0
oY -2+ A2l 30,0003 * 4CH = 12& 1,440
OMAZI| £=2lH| 300,000& * 13 300
206 T2 Ul 6,181 6,181 0
01 X2t 6,181 6,181 0
OFA ADE(0IRAQ 25) 20,0008 * 2004 400
OF&Es ¥ HAE 5,091
OgaH 7,000& * 8 + 12& 672
OSH&E X 33,4703 * 88 + 8IllA + 12& 2,665
OMYIIEE(50L) 930& * 15000 = 12& 1,674
OHMN =t 800& * 1004 80
od - 240 SEH 16,500& = 208r A 330
OR& NsEEI A2BF 360
OBl (th) 100,000& * 28t A 200
Odle (a) 80,000& * 28+ A 160
MEESCA22Y 158,072 93,547 64,525
SN2 ES 99,160 38,910 60,250
201 LEr2 Y| 4,660 4,660 0
01 AP 2t2ldl 4,660 4,660 0
O&FJII2dH=E F=HI 4,660
O=2 X 15,0002 * 30HAF = 128 540
O Xl X 13,000 * 5JHAF » 128 780
Outsd 2 5,000& * 3JHAF » 128 180
OZF2HK 5,0008 * 2JHAF * H2== 520
O& 2K 11,000& * 2000 AF x 12& 2,640
206 M= Hl 7,000 2,500 4,500
01 X2 bl 7,000 2,500 4,500
OEAM H2ES 7,000
ORFID TAG 500& = 7,000H 3,500
Octd S X2 95 500& = 7,000H 3,500




SN CARBMSSEE QST
M ZDCHY 29
Sl NEBCAHBRY CEEEED
A - ER(EN) - AR - B of & o4 SSa HIDZ2
405 At&tF S HI 87,500 31,750 55,750
02 =M7H 87,500 31,250 56,250
O= NI 12,500& * 7,000 87,500
CN2ESZZ2 OS2I 22,600 16,290 6,310
201 fEt2E | 21,760 15,450 6,310
01 AtR 2t 2l | 3,000 1,200 1,800
oOsSM=2E 2,000& = 1,000 2,000
OZN&t EES 2,000& » 500% 1,000
03 A= S HI 18,760 14,250 4,510
O=AZst2z218 29 16,960
OBA+E
35,0008 = 2AI2t » 10048t » 203 14,000
OZ2dHE 80,000& * 7K 560
O&ZzY 2% A28 300,000& = 33 900
OdJl ots== =8 &9 500,000& * 32 1,500
O N2 =2t A 500
O ZA=¢ 300,000& * 13 300
O dA2EA23H 200,000& = 13 200
O=KS & A 1,300
O dA=2g 2234 200,000& = 13 200
O =383d¢ 500,000& = 13 500
O ZA=¢ 300,000& = 23] 600
301 YerE A 840 840 0
09 EAMNAHIESS 840 840 0
O2sZ2 8 HIASALA S EH
7,000 * 108 * 123 840
nzgza 29 27,865 31,040 A3,175
101 12 8| 16,800 15,684 1,116
04 JIZtNZ22XNSE+ 16,800 15,684 1,116
oXzdcel ¥ 2 Ugd 2 o0
1,800 = 1% » 26& = 11& 14,815
O4liAIBI E8 2 1,585
O=tdo=s BE= 14,815,000& * 4.5% 667
OAZEEE BE=  14,815,000& * 3.06% 454
OFINAYLEE F5= 454,000& * 6.55% 30
OuNEEEE RE= 14,815,000& * 1.5% 223
OMMEEE fFE=  14,815,000& * 1.42% 211
OE &=yl 200,000& = 23] 400
201 Yet2 | 2,505 3,376 AT
01 At 2t 2l bl 2,245 1,266 979
OZBEHEU(ZRSE) 220,000& * 404 880




SN CARBMSSEE QST
M ZDCHY 29
Sl NEBCAHBRY CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
O=AMIEH 260,000& * 1JH 260
O=EAEX 21,000& * 58 A 105
ONMUAHZAN HES 2,000& x 5008 1,000
02 33249l 260 2,110 A 1,850
Ogo3 g3 260
Ost== A& 110,000& 110
O A& 150, 000& 150
206 M = Hl 5,980 900 5,080
01 = bl 5,980 900 5,080
Ol EEREES 5,000
OU&EIte 1,500& = 3,0004 4,500
OJtezmely el 80,000& * 5JH 400
OotezZele 224 10,000 = 10H 100
OANIIE SHE 3,000& = 60K 180
O=E"(2¥) 300,000 = 1JH 300
OXg &l A= 100,000& = 54 500
301 Bt A= 2,080 2,080 0
1M IIEtE &2 2,080 2,080 0
O ANME2 KNJASALL 2S4a|
0,000& * 19 * 104 2,080
405 XtabF S| 500 9,000 A 8,500
01 A&t =S F SHI 500 9,000 A 8,500
olsetgesx 500
OXss Usgtgedgx 500,000& = 1JH 500
ANEES X 22 8,447 7,307 1,140
201 LEt2HY| 5,520 4,380 1,140
01 AFR2t2ldl 3,000 2,400 600
ORo1dHl AAE 250,000& = 12& 3,000
02 35244l 2,520 1,980 540
ootsiza ZIIFEI SX2e
30,000& = 404 ~ 128 1,440
oY - 2xJ A2l 30,0008 = 3CH = 128 1,080
206 M= Hl 2,927 2,927 0
01 X2t 2,927 2,927 0
Ox&a ¥ HAES 2,402
[@X==N 7,000 * BIHA + 128 504
O & X 3,500& * 52 x 64 x 128 1,260
oMrgolsE 1,770& = 3000 ~ 12& 638
od - 240 =sEH 16,5008 * 102+ A 165
OR NsSEEI 2B2F 360
ol () 100,000& * 28t A 200




SN CARBMSSEE QST
M ZDCHY 29
Celr MBEEABSY (el @2)
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
| | otld (&) 80,0002 * 28t A 160
SHENB2SY 174,464 115,049 59,415
- 14,683
& 10,488
Al 149,293
SN ES 62,080 15,672 46,408
201 LBt Y| 8,080 2,172 5,908
01 AR 22l ] 8,080 2,172 5,908
OFJIZHERS 8,080
O 15,000 * 10JHAF = 128 1,800
O Xl & Xl 13,000& * 1504 AF » 12& 2,340
O&E 2t 11,000€ = 200HAF = 12&€ 2,640
OZF2tX] 5,000& * 5JHAF x B2=F 1,300
206 M = Hl 4,000 1,000 3,000
01 X2 Hl 4,000 1,000 3,000
OENE2ES 4,000
ORFID Tag 500 4 0004 2,000
Octds X2 98 500& 4,000H4 2,000
405 XtabF SHI 50,000 12,500 37,500
02 S A7 50,000 12,500 37,500
O M3zl 12,500 4,000 50,000
SN2 EZ)HSH 20,110 14,010 6,100
201 Bt A H| 18,110 14,010 4,100
01 AtR 22l bl 2,000 0 2,000
O=sSMHL2E 2,000 1,00082 2,000
03 S AIS H H| 16,110 14,010 2,100
OsSMSIEZ IS 29 14,430
O A=
35,000& x 2AI2F = 13048 = 153] 13,650
OZeote 70,000& * 44 280
Ox=d &34 500,000& = 13| 500
O M2+ AL 840
OEES(S9 HH)ME 70,0008 = 204 140
OFIIE=HLAHAS ¢ 500,000 = 13| 500
OZz gy A28 7Y
200,000& * 13 200
OS Ao £ A 840
O=E=2(a2=2 i) = 70,000& = 24 140
O&IN=HLAHS =< 500,000 = 13| 500
OEZNH2HE A22F 7
200,000& * 13 200




SN CARBMSSEE QST
M BDCHY 29
el SAChBRY CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
206 M = Hl 600 0 600
01 & bl 600 0 600
S3na T ) 29 25 2L 600
OEZNEH2HE 228 *¢
300,000& * 23] 600
301 dEtE A= 1,400 0 1,400
09 HAIAH EA=S 1,400 0 1,400
OSMHME3 T2 08 NISAHL =4
7,000& * 10" * 203 1,400
Aegzsaesd 39,882 34,807 5,075
101 @121 33,597 31,362 2,235
04 JI2ZtH22XNEE =+ 33,597 31,362 2,235
oxE¥e Y =2 NEA 2gol
51,800& » 2% * 26 * {1& 29,630
O4HAISIBEE 2 3,167
O=0dza 22 29,630,000& * 4.5% 1,334
OAdEBEE 22 29,630,000& * 3.06% 907
O&IRLBEZ 232 907,000& * 6.55% 60
OnseEgas 22 29,630,000& * 1.5% 445
O EEE 232 29,630,000& * 1.42% 421
O ¥ E S IttI 200,000 = 2Y * 23| 800
201 et A | 1,610 1,655 N45
01 AFR2t2ldl 1,350 1,245 105
OZgHEHYH 220,000& * 404 880
O=AMIENH 260,000& = 1JH 260
O=2AEX 21,0008 = 10&8fA 210
02 332494l 260 410 A 150
Ogozeegd2 260
Ost=2= A 110,000& 110
O A& 150, 000& 150
206 T2 HI 2,675 790 1,885
01 & bl 2,675 790 1,885
OIS 1,200
OU&EIE 1,500& + 5004 750
OotezZeE 2la 80,000& * 58 400
OJtezxZglE 224 10,0003 = 58 50
OXZ Al AFQIAIAEYS 100,000& = 34 300
OEANEs+E HOolZ 150,000& * 28 300
oONnsUsEetd)] 3+3 X 3,0008 = 50= 150
OXz &l pced 275
(@) E=s 25,000& * 54 125




CHRBMS SRS QECAHB
ZRo M 29
spcHBEY SiE)
= _ — d =
SA - B (SA) - MRAY - BYS e 2
OJIEE 15,0002 * 504 75
ot 15,000& * 54 75
OAMESEII A 20,000& * 1004 200
E2+=ZRFIDEH O 500& = 50004 250
405 XtAtHE SHI 2,000 1,000 1,000
01 AL ESFH S 2,000 1,000 1,000
OYE 11 (500L01 &) 1,000,000& * 1CH 1,000
OX= & ANt 1,000,000& =+ 14 1,000
I8 2el 9,039 10,439 A 1,400
201 L2yl 6,111 8,406 ~2,295
01 At 2teltl 2,400 2,400 0
OF ARl EHI 200,000& » 123 2,400
02 =224l 3,711 6,006 N2,295
odzdE+I |2l
30,0004 = 104 ~ 123 360
oY==l 1,173 = 2528 * 204 = 60 3,351
206 M= Hl 2,928 2,033 895
01 M2 4l 2,928 2,033 895
OFMZ2UEBE(0IRA 2 98)
50,000% * 45 * 43| 800
O3t & FLES 1,423
oMy IS8 E(50L) 930 * 3004 = 12& 335
O=t&EX 3,500 * 68 * 40 + 128 1,008
OMl==Hl 5 800& * 1004 80
odz+ll S5 16,5008 = 102 A 165
OR4 NsZ2FI ABF 540
Oblg (th) 100,000& * 3&=tA 300
Ol (4) 80,000& = 32fA 240
DZEHBHBAIRR(2D) 43,353 40,121 3,232
= 14,683
< 10,488
Al 18,182
101 @124l 43,353 40,121 3,232
= 14,683
< 10,488
Al 18,182
040|222 S+ 43,353 40,121 3,232
OJIZHZ2NEE 41,953,000& 41,953
= 14,683
S 10,488
Al 16,782
O=SXZEQE & HEZFIHHI 1,400,000& 1,400
SN2 29 634,124 0 634,124




0¥ 08 N

NBBYSE2S 258G
BTN 2Y
HEND 29

>
el

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
= 33,561
= 20,976
Al 579,587
SN2 ES 418,460 418,460
201 et A H| 13,460 13,460
01 At 22l bl 13,460 13,460
oO&FJIZHMHE =T 13,460
O 15,000& * 158 = 128 2,700
ORI X 13,000& * 105 x 12& 1,560
OZF=2tX] 5,000& * 10JHAF * 523 2,600
OE 2t 11,000 * 500 AF = 128 6,600
206 M = dl 30,000 30,000
01 24 30,000 30,000
CEVE-EIE=1= 30,000
ORFID TAG 500& * 30,0004 15,000
Octd S X2 9& 500 = 30,0004 15,000
405 XH&HF S HI 375,000 375,000
02 AR 375,000 375,000
O&EAM 12,500& * 30,000 375,000
N2 EZ )HSA 29,930 29,930
201 Bt A H| 28,530 28,530
01 AtSR 22l b 4,000 4,000
OsSMNML2E 2,000& * 1,0008 2,000
OENZ EB= 2,000& * 1,000% 2,000
03 AL E H| 24,530 24,530
OsSMSsE)H 29 21,320
OYA=g
35,000 x 2Al2F = 1200 BF % 243] 20,160
@)=E==4 70,000& * 8H 560
OZz ) 2HARE 300,000 = 23| 600
OFEFUYE 208 29 1,670
O2A=Y
35,000& * 2A12F = 1JHEF % 203 1,400
(@)= 70,000& = 104 70
Oomz)d 89422 200,000& * 13 200
O M2 =2t SHAt 770
O2 A= 300,000 = 13| 300
Og+9 70,000& = 14 70
OZz ) 2HAARE 200,000 = 23| 400
O=sAMaY A 770
O A& 300,000& = 13| 300




SN CARBMSSEE QST
M DDA 29
ool FUSHE 29 (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
@)=E=4 70,000& * 1H 70
OEzdH 29423 200,000& = 23| 400
301 et A= 1,400 0 1,400
09 HALAHIEA S 1,400 0 1,400
O=SNES Z2 08 TUHIEAMA SAH|
7,000& * 109 = 203 1,400
Ahesgsasd 88,576 0 88,576
101 2124 1| 50,396 0 50,396
04 JIZtH2ZXNEE S 50,396 0 50,396
oNzde ¥ FLXsH 2gHod
1,800 = 3% * 262 » 11& 44,445
O4UlAIEI EE & 4,751
O=0AHZ BY= 44,445 000& * 4.5% 2,001
OHLEEE 22 44,445 ,000& * 3.06% 1,361
OIUYEE=Z 22
1,361,000& * 6.55% 90
OnseEgas 232 44,445 ,000& * 1.5% 667
OMEsEE 232 44,445 ,000& * 1.42% 632
O ¥ E St 200,000 = 3Y = 23| 1,200
201 et A | 3,710 0 3,710
01 AFR2t2ldl 3,450 0 3,450
OZelH EH(E) 220,000& = 504 1,100
oOZEH EUH(ZY) 220,000 = 404 880
O=2AMI EUYH 260,000& * 1JH 260
O=AEX 21,000& * 102r A 210
OWIUAHNEAN HEH 2,000& x 5008 1,000
02 33249l 260 0 260
O g3l 260
Ost=2= A 110,000& * 13 110
O A& 150,000& * 13 150
206 M = dl 14,650 0 14,650
01 & bl 14,650 0 14,650
OENUEIAS 9,600
O3S 1,500& * 5,00074 7,500
O3asLz Zely el= 80,000& * 25JH 2,000
odle3accy 10,000& * 1094 100
OXZ &AL S 100,000& * 307H 3,000
OFINZHE2A JEE=Q 25 20,000& * 104 200
ouEZMEE 10,000& * 504 500
OEMES+E HOIZ 150,000& * 28 300
OXNsSUHERIE) 945 21
3,000& x 1502 450




0¥ 08 N

x

1=

NBBYSE2S 258G
BTN 2Y
HEND 29

M- BB (BH) - NEAY - BaS o A o il 2
OMII SHE 3,000 = 2004 600
301 dEtE A= 8,320 8,320
11 IIEtE A2 8,320 8,320
OTAHFe RNFBAX 2SaH)
20,0008 * 4% x 104 8,320
405 RHoHFE S HI 11,500 11,500
01 JHAHY 2 Z 5 S H 11,500 11,500
CHZETD (100L0] AF) 1,000,000& * 1CH 1,000
OENMASI 7,500,000 = 1CH 7,500
OLED =23 H 1,000,000& * 1CH 1,000
OX= &l At 1,000,000& = 24 2,000
a2 X 22 10,453 10,453
201 Bt A H| 4,080 4,080
01 AtR 22l ] 2,400 2,400
O R0l AH| 200,000 = 12&€ 2,400
02 332494l 1,680 1,680
oOd4I|l |A2 30,000& = 30§ ~ 128 1,080
o=2d3 A 300,000& * 23] 600
206 M = Hl 6,373 6,373
01 X2 bl 6,373 6,373
OFMEE(EQ 3 50,000& * 5& * 13 250
OFMNB2IESE(HEE A7S)
50,000& * 88 * 13 400
O3t&Ea & HAs 4,998
O stH 7,000 * 100HA + 1200€ 840
OSH&E X 3,500& * 82 * 100HA = 128 3,360
oMgolsE 1,770& = 3008 ~ 128 638
OHMN =t 800& * 2004 160
od=s)| EEY 16,500& * 108t A 165
oM NsSEEI ASE 360
OdI< (th) 100,000 = 28tA 200
odlg (a) 80,000& * 28+ A 160
OAIE2E I|2tA 20,000& * 109H 200
S22 A2 A2 A 86,705 86,705
= 33,561
< 20,976
Al 32,168
101 2121 4| 86,705 86,705
= 33,561
= 20,976
Al 32,168
04 JI2ZtHI22XNSE S 86,705 86,705




SN CHRBMSEZE Q&C AR
M ZRCAB 29
Chelr Z2UHEM2 29 (&)
SA - ZE-B(EA) - NRAY - B S il &t o il RS2
OJIZHZ2Z2AE =+ 83,905,000& 83,905
= 33,561
= 20,976
Al 29,368
O=XNZEE Y HEFIHYI 2,800,000& 2,800
HE2HAIH(EH2EMSSEE 2ET M) 377,280 318,943 58,337
ol 2d | 41,882 35,183 6,699
ol | 41,882 35,183 6,699
101 @124l 41,882 35,183 6,699
02 JIEtE B 2,160 0 2,160
oOFJZIHE 22= 120,000& » 9H =« 23| 2,160
03 RIAHAZ 2B+ 39,722 35,183 4,539
032 EX(AMNMEZH) 39,722
oJlgs 2,011,960& » 1H » 128 24,144
Ot =y 100,590& = 1H = 12& 1,208
OnExe 100,000& = 1H = 123 1,200
OIHA X &bl 160,000& = 1H = 12& 1,920
O=&t| 150,000& = 1H = 123 1,800
Ons:E 2l 150,000& = 1H = 12& 1,800
(OFSF=Eat=y 50,0003 = 18 » 123 600
OFEFItHI 1,390,400& = 1H « 23| 2,781
OzHI24Y
16,180& = 10AI2t = 1H « 123 1,942
O x4 86,320 * 1% = 20¢ 1,727
OduauZ3 600,000& » 1H 600
Jl=34l 335,398 283,760 51,638
Jl23Hl 335,398 283,760 51,638
201 Let249] 306,358 256,880 49,478
01 At 22l 23,092 22,764 328
OJlegeaaAY (J1=Zl) 11,500, 000& 11,500
O=&HI(J1E&Hl) 11,592,000& 11,592
02 =24l 283,266 234,116 49,150
oORER=S 2,721
OBt 2703 = 1,500 405
OsJl 1,930& » 1,200 2,316
oOXIRS 236, 101
OJI2ea 6,990% » 6JHA * 183kw » 123 92,101
oMNEsEas
1002 * 6O * 20,000kw » 123 144,000
O&dt=E 23 1,600& = 1,000m * 12& 19,200
OZAIJIA 23 (2HU)
950& = 1,100m = 123 12,540




SN CARBMSSEE QST
B BHLARU(CHRBMSSER Q8T H)
@2 Jl2&tl (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
(OPNE=PNE=R= 800,000& 800
O XS A 100, 000& 100
O HIIBAZ 100, 000& 100
oOxed U 4,000,000 4,000
OXtEEH 2 X
2,500,000 2,500
ostgdmerg=2 200
O = 100,000& 23| 200
od | S X &2l
3,700,000& ~ 9Uf * 8% 2,664
OKHYUS2 (60HA 20,000& =~ 804 » 12& 1,920
O&=J #A&clyl 35,000& = 10§ ~ 12& 420
202 04| 24,840 22,680 2,160
01 2LHOHI 24,840 22,680 2,160
O=2UWdobl(IIE=F4l) 24,840,000& 24,840
203 ¥R =&H| 4,200 4,200 0
04 EANSHLERF=AH 4,200 4,200 0
©J| =M (302!0]38t) 350,000&  12& 4,200




>
A & 0 & & F A
SN CAREMSEER Hysts
HE: Byss 78
ool URATWYDE 2 cHol A E)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
CHRBMHSSER Blsis 1,090,936 1,054,455 36,481
gMsts 28 913,877 882,343 31,534
g Edus 29 638,795 595,210 43,585
HEE AL &3 =4 161,203 218,917 ABT,714
206 M= Hl 4,654 5,472 A 818
01 MHZ 4l 4,654 5,472 A 818
O E &
3,700% * 38 » 12014 ~ 123 1,599
oMY IISE(FA228) 1,833
oMgII=& 1,770& = 70 = 128 1,487
OSASMYI| LRES(22/4)
3,600& = 8 » 12& 346
OAE2eE A2 X 1,222
O& 2| 897
SIS INS A2 X (2p*30A)
69,000& = 1304 897
OLYANES M 25,000 * 1324 325
307 21201 A 124,800 121,445 3,355
05 RIZt2IEt = 124,800 121,445 3,355
OHAUY 84H  2,600,000& » 4F » 128 124,800
401 Al HI K 201 I 30,549 20,000 10,549
01 A& HI 30,549 20,000 10,549
OHEMRANESE 4,6613 » 6,554m 30,549
405 RHoHE S HI 1,200 72,000 270,800
01 AL EFSFHSHI 1,200 72,000 270,800
OTV(50Q! XI) 1,200,000& = 1CH 1,200
BMN=E2Y 331,193 241,509 89,684
101 @124l 15,311 14,679 632
04 JI12ZtHZ22HEE = 15,311 14,679 632
CdMstsZz)d2E XA 15,311
ool 51,800& = 1 » 269 * 103 13,468
O=RH=!RE= 13,468,0008 * 4.5% 607
OHLEEESRES 13,468,000& * 3.06% 413
OWINLAEEHEFLES  413,0008 * 6.55% 28
OL2EE=RES 13,468,000& * 1.5% 203
Ot EEHEFE S
13,468,000& * 1.42% 192
OFEFtHI 200,000& = 23] 400
201 2et24d] 288,580 211,250 77,330
01 At 22l 282,770 205,240 77,530




SN CABBMSSES BASSD
M s T
S ETMDS 29 CERED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ONsMIE E22 M= 12,800
oot gsE A2
350& = 1,80001 = 23| 1,260
Octl=2 L8 USE
400 * 1,80001 * 23 1,440
Ousd &8 ZAH - 22 ME
4003 = 10,00001 = 23l 8,000
OUSY 27 4o
70,000& = 1504 = 23] 2,100
OBMuE ZA+=E
35,000& » 781t= * 323 = 3AI2 262,080
O 'clotS S 'HIOISZ 2AsE
350,000& * 51t= 1,750
OBMDS YMUT HEY AALY
100,000& » 3% = 2 * 23| 1,200
ousd HF 400& * 2,000 = 23 1,600
CuN=s8 2AZEAN 3,340
OPCE WAZ=Z )M (WIE L IHSIIH)
32,0002 » 452 1,440
O=S7&24d FL(HMU=E)
50,0002 * 382 1,900
02 2324l 1,650 1,650 0
Ou=sZ & MAFEH KX 2 1,650,000 1,650
03 A2 Z Hl 4,160 4,360 A 200
Oousd & BMstss0tel S8 =AM 4,160
Og+=% 70,0003 * 400 = 23| 560
OHSE=H M2S 1,500,000 * 23| 3,000
OZ 20l 300,000& = 23l 600
206 TH 2 HI 19,200 8,900 10,300
01 M=l 19,200 8,900 10,300
oxecla & 294 JIXM 19,200
OReld sz 15,000,000 * 14 15,000
Ou=ss 585 500,000& = 63l 3,000
(OEN== 400 * 1,500 = 23| 1,200
301 L2 A S 1,540 1,680 A 140
09 &AL HI 2 &S 1,540 1,680 A 140
Osts&Hsl A =S4l
7,000& * 409 « 23] 560
O=d&FA A S4H 7,000& » 70 * 23] 980
405 Xt&HE S 6,562 0 6.562
01 XA = ZFH SHI 6,562 0 6,562
WEN(RalY) 1,520,000& * 2CH 3,040
OADIEE(22l4) 1,600,000 * 2CH 3,200
OFTH X (Rela) 142,000& 104 142




SN CHARBMS SRS BMsaD
Bu: Basy s
el FRUBMUS 2 oEe)
S BB (BA) - MRAY - BYS il
OUMII(Kela) 180,000& * 1K 180
HHEI SR EHNE2HE 146,399 134,784 11,615
101 1Al 17,008 16,071 937
4 JIZtHZ22HEE+ 17,008 16,071 937
OoRcld F3A0H 51,8003 = 2% = 23] 208
o=tz 16,800
Ol 51,8008 = 18 = 262 » 11& 14,815
O=blc=2E=s 14,814,800& * 4.5% 667
OHLEEERES 14,814,800& = 3.06% 454
OFIIRYBEESRES  454,000& * 6.55% 30
ONEEEESRES 14,814,800& = 1.5% 223
OdZMlEEESREE =
14,814,800& = 1.42% 211
Og 2 =otdl 200,000& » 23 400
201 2Lur2 HH| 111,435 97,237 14,198
01 At22t2l bl 73,410 59,800 13,610
OEHMUS A&
35,000& » 191= * 32 * 3Al2t 63,840
Ousd A& 400¥ » 5002 = 23| 400
odylgtd e el === 210,000& » 123 2,520
Ooxgotd e He =3 200,000& » 123 2,400
OFANSRABH AMAY =8
250,000& * 123 3,000
O=sclEHE 2 12,5008 = 100& 1,250
02 3524l 38,025 37,437 588
odsles 30,000& » 123 360
o&lIIea 1,900,000& = 12& 22,800
ouot=ER= 200,000& * 12& 2,400
OAZSE 3l 210
OANgorM 2te| Xt 210,000& * 13 210
ONAAHHE SN 30,000& * 13/ 30
O A &l =X 4,942
Od2=JI% X 2cl
46,700& * 4CH + 123 2,242
OHEF MR s 2 300
- THS A 5,000,000 * 1CH * 6% 300
Oogs&dl |X 22l 40,000,000 * 6% 2,400
OF A A HI 76 « 2,000 * 63 912
O&stx A 14,0008 = 26.5= * 13 371
OMRH HE3HE 6,000
O=HEES A (4M)
500,000& = 13]& = 128 6,000




SN CABBMSSES BASSD
M s T
Ool: RABMIS 2Y CER-ED
A - ER(EN) - AR - B of & o4 SSa HIDZ2
206 M =8l 7,311 8,476 A 1,165
01 M= dl 7,311 8,476 N 1,165
oRcld & A4 JIXM 4,000
Oogeld sz 450,000 = 83l 3,600
O*=83 400¥ » 5002 = 23| 400
oszas #I7
3,700& * 42 * 5 A + 128 888
QXUJISF(HA22E) 1,408
oXgIIsE 1,7708 = 50& + 128 1,062
Osasiiligerzes(224)
3,600 = 804 » 12& 346
OoANg2cE 223 UM 1,015
OdJl & =& AMES 690
-5 & X1 (2P*30A) 69,000& = 104 690
OFE- 325
-AHAEE AZTH 25,000& = 1304 325
401 AIEHI L 2CHYI 7,645 10,000 N2,355
01 AlZHI 7,645 10,000 N2,355
OFAANE FXNE+ 4,661 = 1,640M 7,645
405 THatFH S 3,000 3,000 0
02 =M=l 3,000 3,000 0
O=otH =M+ 12,5008 » 2402 3,000
gdstsUHERD 23 275,082 287,133 12,051
Zuss2y 133,284 165,768 £32,484
101 12 8] 17,624 16,448 1,176
04 JIZtNZ22XSE+ 17,624 16,448 1,176
OEMsIsXd X208 29 o4 17,624
OHI&e BdWFA o 2H|
59,8408 = 1& = 262 » 10& 15,559
O=tl=2E3 15,559,000 * 4.5% 701
OUZESERES 15,559,000 * 3.06% 477
OFINQYLEEFEE=S  477,000& * 6.55% 32
ONEESERES 15,559,000& * 1.5% 234
O ESERE S
15,559,000 * 1.42% 221
OZEF It 200,000& = 23 400
201 LEr2 Y| 102,200 135,700 33,500
01 At 2t el b 64,200 98,200 A 34,000
OBYsSIsZAIFA dtE 10,0008 * 2008 2,000
Y EXNAANY 8L cIEH
1,000& * 1,8000H 1,800




SN SARBMSSES BaSSD
Ha: HMstE 7
Sl BMSSUEND 23 CERED
5 - 4
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OUS RO BASS JASD
0,000& = 2A12F = 8503 34,000
OFF0I2t0IDl 8% 70,000€ = 103 700
O50607 AELE ZelHs dAe=S 10,200
OZ A& 300,000 = 303l 9,000
O8l&Ests e Adx= 600,000& * 23| 1,200
OAMOIHEMSISR AlAE Ol2=
1,250,000& * 128 15,000
OHislULIs)l 2502l 2AHIH M &
100,000& * 5J4 500
02 2% H| 2,000 2,500 A 500
OBMSSTAES 223
2,000,000& = 13 2,000
03 SHAI2 G H| 36,000 35,000 1,000
OZBMSES2AAXN /IS 10,000,000 = 13| 10,000
OFHZ=02+HI 01 JH =l 2,500,000& = 103 25,000
Ost&Es0lel 9&2s A3s
500,000& * 23| 1,000
202 044l 3,200 2,400 800
01 2L I 3,200 2,400 800
OBMSESAIYE =& X0 H|
20,000 * 49 = 40< 3,200
206 M = Hl 300 0 300
01 X2 8| 300 0 300
OLMSER2Y Alatd WSMHZ(0IR)
15,000€ * 204 300
301 et A= 9,960 11,220 A 1,260
09 #HAIAHI BEAZ 1,960 2,100 A 140
OZBMsts ARXE9 ZILA S
7,000€ * 40¥H x 23] 560
OIS LISD| &totYe YEX S|
7,000& * 80H x 13 560
OBMSE MTA 2Hs BAX Sl
7,0008 * 20 x 63 840
11 J|EtE A2 8,000 9,120 AN 1,120
OBMSISHTAN B4 8,000
OAS A 20,000 * 10 * 8% * 23] 3,200
O AEX 10,000 = 29 x 240 4,800
stol= WMsts SH& g 16,365 13,365 3,000
201 et d| 2,000 2,000 0
03 HAI2 G HI 2,000 2,000 0
OFFA Mt E22 M
2,000& * 1,000% 2,000
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SN CABBMSSES BASSD
MY HHSHAH(CHBEMSSES BMstaR)
erel: Jl= 2| (29 a8)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
o4 - ot 400,000 = 12& 4,800
ONERLRLI(=2H 2B)
1,300,000& = 13 1,300
OIIANM B A== 30,000& * 13 30
oxE g3l 300
ORI & 2&el Xt 40,000& * 13 40
Ogtsh2tel Xt 50,000& = 13 50
O ort™ 22| Xt 210,000& * 13 210
OHOIZETV b= 35,000& ~ 204 = 12& 840
O A& &H| K X Hl| 9,564
Od - 240 s
45,0003 = 804 * 123 4,320
O#AEAIRII X222 5,244
M XS A 3,500,000 = 100 * 6% 210
M XS A 4,500,000& ~ 100 * 6% 270
HE ySIY A
14,400,000& * 6% 864
-2y $s5EH SR
65,000,000& * 6% 3,900
OX& = XYl 4,908,000& * 1CH 4,908
ONMz+=Z HA 800,000& = 23| 1,600
O & A 24y 76& * 5,358m * 63 2,444
OdSE HEA 14,000& * 66.6& * 13 933
odgdI? HdZHI(E8
7223 * 4A2F * 20 x 100 578
OZMHO0IXl SXl2el 14,738,000& * 8% 1,180
OQ&ANEH CHURS 14,460
O3s MES 1,205,000& = 12& 14,460
202 (4] 15,120 15,120 0
01 2 LHOHI 15,120 15,120 0
©J| =& bl 15,120,000& 15,120
203 P R =&Y| 3,000 3,000 0
04 ENSIHRF=AY| 3,000 3,000 0
©Jl= (1521 0la}) 250,000& = 128 3,000
ol 2| 50,627 45,478 5,149
ol A4 H| 50,627 45,478 5,149
101 @121l 50,627 45,478 5,149
03 RIAHAZZXE 50,627 45,478 5,149
OFIAZE 22= 120,000 * 29 = 23| 480
oOgREXA 47,142
OJlIE2=2(ti3254¢ 1)
2,342,490 = 1H = 128 28,110
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